=L

BARELTH%AR
BOET AR 3 7 IhRE

HDA-P
1. HHE
(1) :
\
= 4 $ ‘ £ EEWll'llllIl'Ill'll'llllIl'lll'llw'll'l
(3)
§
I
S
(1) 7oh—AKE [BE 452 : mim]
2k A)—T R KIFE SinEE | RlE
B | Is ds1 ds2 dss3 dc d
HDA-P20-M10 x 100/20 150 100 19 | 16.8 | 185 19.5 10
HDA-P22-M12 x 125/30 190 125 21 | 18.8 | 205 21.4 12
HDA-P22-M12 x 125/50 210 125 21 | 18.8 | 205 21.4 12
HDA-P30-M16 x 190/40 275 190 29 26 29 29 16
HDA-P30-M16 x 190/60 295 190 29 26 29 29 16
HDA-P37-M20 x 240/50 360 250 35 32 35 36 20
HDA-P37-M20 x 240/100 410 250 35 32 35 36 20
(2)~(3) Tvirv—-Fvhk [BE AL : mm]
15,5 WS a— -
é @ ;i Jj //ZZJ - ?)'I': Z;if) ((':\Aﬂlzg)m@ (3) AFF vk EN 4032-2000
"o " E n & Ex ~miE Ex
d, d- S w
M10 27 10.5 3 17 10
M12 32 12.5 4 19 12
M16 45 16.5 5 24 16
M20 50 21 6 30 18
2. 8
Foh—RILk . BERX48.8 (1ISO 898-1)
RF)GIywv— : (DIN 6796)
FEJy— . (DIN 6340)
NAFYE . BERXS8 (EN 24033)

& 4R 06/2018 1



